
E l e c t r i c  D i e  G r i n d e r

S e r v i c e  P a r t s  L i s t

DIE GRINDER

REV.
1.00

®



E l e c t r i c  D i e  G r i n d e r

S e r v i c e  P a r t s  L i s t

DIE GRINDER

REV.
1.00

®

Item Description Part No Qty List £

1 Fan shroud EVDG1 1 0.95
2 Bearing 608-2z EVDG2 1 5.49
3 Armature 110v EVDG3 1 25.16
3A Armature 230v EVDG3A 1 25.16
4 Self tapping screw st4.2x80 EVDG4 2 0.38
5 Bearing 607-2z EVDG5 1 5.13
6 Bearing washer EVDG6 1 0.63
7 Field assy 110v EVDG7 1 18.05
7A Field assy 230v EVDG7A 1 18.05
8 Slide bar EVDG8 1 0.63
9 Slide button EVDG9 1 0.63
10 Switch EVDG10 1 3.24
11 Motor housing EVDG11 1 11.61
12 Brush holder EVDG12 2 2.97
13 Carbon brush (pr) EVDG13 1 7.74
14 Brush cap EVDG14 2 0.63
15 Cable clamp EVDG15 1 0.63
16 Self tapping screw st4.8x16 EVDG16 2 0.36
17 Cable sheath EVDG17 1 0.63
18 Back cover EVDG18 1 6.44
19 Self tapping screw st4.2x13 EVDG19 1 0.36
20 Power cord 110v UK EVDG20 1 10.94
20A Power cord 230v UK EVDG20A 1 7.74
21 Capacitor EVDG21 1 2.25
22 Inductor EVDG22 2 1.31
23 Connector EVDG23 1 1.58
24 Screw m4x8 EVDG24 2 0.36
25 4mm spring washer EVDG25 2 0.32
26 Bearing cover EVDG26 1 0.63
27 Bearing housing EVDG27 1 3.87
28 Circlip 10mm dia EVDG28 1 0.45
29 Bearing 6000-2z EVDG29 1 7.07
30 4mm washer EVDG30 4 0.36
31 Self tapping screw st4.2x22 EVDG31 4 0.48
32 Spindle body EVDG32 1 9.68
33 Circlip 12mm dia EVDG33 1 0.54
34 Spindle EVDG34 1 5.13
35 Bearing 6001-z EVDG35 1 7.74
36 Bearing cover EVDG36 1 0.63
37 Collet nut EVDG37 1 1.31
38 Collet 1/4" EVDG38 1 2.61
38M Collet 6mm EVDG38M 1 2.61
39 Spanners (pr) EVDG39 1 3.87

E v o l u t i o n  P o w e r  T o o l s  L t d
Venture One, Longacre Close, Holbrook Ind Estate, Sheffield, S20 3FR, UK

Tel: +44 (0) 870 609 2297  Fax: +44 (0) 114 247 3339  www.evolutionpowertools.com


